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(if)  Findthe HCF of x=3, x* =9, (x=3)* by factorization method.

i
() Simplify : (2)

(ivy  Find anti-logarithm of 0.8401

(v)  Find the value of 2% + b%, whena+b=10,a-b=6

(V) Ifx= S-ZJE.ﬁndthevaluesnfx+~i-andx3+-Ei

(vii)  Factorize: 6x° = 15x* = 9
(viii)  Factorize: a* - 64b’

(i)  Find the square root of 4x*~ 4x? + 18x? = 6x + 9 by division method,
() Solve the equation V2x=7 + 8= 11

(xi)  Find the solution set of Ex - H| =]

(xi) ' The length of a rectangular playground is twice its width, The perimeter is 60. Find its dimensions,

"Section-C" Marks: 2

Note:-  Atieript any Three (3) questione, Each question carres equal marks. @@
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Q3.  Provethat: A(2,3), B(8, 11)and C(0, 17)are the vertices ufi!1 isosce

Q.4 Prove that: If two opposite sides of a quadrila arEnghgrudn
parallelogram. 0
Q5.  Prove that: The rj ' % ' angle are concurrent.

Q. 6. Eﬂangle bisectors and verify their concurrency.

(=]

2.5 cm, mﬁﬁ=3,landmﬂ?{'=5,2cm



